


Table B

Eva!uit_ion of ﬁe;aﬁt—s._

§r. | Parameters. SRS . i

No. -— -

1. | Increasing of | (A) Due to increase in ;E'«grh:uhu.Jnv.rJ|:{:-jn::r:‘:;c1uE e | Tow e
productivity Agricultural Produce 3 |
attributed  to [[1) |before Completion of the Rs 49.0 {
specific project. Project Quantity In ML H

310.35 N T
) | Agricultural Produced | Rs 78.30 t:i::g |~
before Completion of the
Project Quantity In Mt !
2073.76 —|
M) | Increase in Agricultural | Rs 33.29 I
Produce per year Quantity ||
in Mt. 1763.41 L
B .
I?Jue to rise in ground water table in the command area of | 37.50 Lakhs |
| the project 2 villages are to be benefited in the |
command area due to the construction of this project by '
way of increase in ground water table. Assuming benefit -
on this account to be Rs. 25,000.00 / village / year , the \ |
total value of benefits that will accrue on this account in |
50 years will be, = 03 x 50 x 25000 |
C) N
Due to increase in timber out turn In the area adjoining | 4.5 Lakhs |
to the reservoir it is Assumed that @ Rs. 1200/- per m. ':
width Of the forest all along the 4500 m. Periphery of the ‘ '
reservoir will be benefited Due to rise in ground water |
table =10 x 4500/- Total out turn from the forest of |
22.554 ha is Rs.45000/- per ha./ Year assuming 20% | |
increase in annual Out turn the value per hectare 35.67 ‘ \
45000 x 3.9=178360.8 fakhs
Therefore 22.554 ha to accrue in ||
50 years willbe=0.4 X 50 X 178360.8 | |
Annual production of @ 5000Kg/14.75 amounting to Rs. \"-
20.00 Lakh per year deduction of expenditure the overall |
benefits of this accounts for 50 years = 20 x 50 ||
E) | 1000.00lakhs \
| Benefits due to hydro power Generation is TNl l ‘

Total=2742.56 lakhs, |




-

Benefit
Economy due 10
the specific
project.

| — e ——
No. of population
penefited due to
f specific project.

of 1t Ts ﬁmgd_tl_w_at—lhere will be

over all benefit to the economy, @ 10% in
the agriculture output worked under parameter, thus benefit to the project

will be Rs.166.49

]
ited in the command area due to this

to be benef

project. Total population ©
per family total No. of families

f these villages is

4000 assuming of 3members

benefited will be @ 500/- family. Assuming
5.4500/- per year due to additional

in income per family @ R
Ln:;::fnent changes in Agriculture. Over all benefits to the population on
this account for 50 years will be Rs 1125.00Lakhs.

Economic
benefits due to
direct and
indirect
employment due
to the project.

Rs.578.58 Lakhs excluding contingenf:v and
nt generated during the construction of
| be 400 lakhs. The employment

@ Rs.396.73 per day @ 400 lakhs
ent potential will be = 60000 x

(i) The total cost of the project is
work charges cost. Employme
project and the labour component wil
generated assuming the labour wages
mandays in monetary terms the employm

396.73 = 238.038 lakhs. 1T
(ii) It has been observed from the statistics available for the irrigation

projects in operation that a labour potential of 51 mandays / Ha. / year is
generated potential due to employment in the fields in agrobased

industries.
In case of this project the Irrigable command area is @ 160 ha. Assuming
wages @ Rs. 396.73 per day , the employment potential that will be
generated during 50 years will be, =51 x 396.73 x 160 x 50 =1618.65 lakhs.

(iii) Total of para (l) + (ii) =1856.68 lakhs.

a) NPV for Dense Forest=14.36 lakhs x 25.554 ha x 25 year = 9173.88 Ial:hs._-

5 | Economics
benefits due to
Compensatory b) NPV for open Forest = 11.16 lakh x 25.554 ha. x 25 = 7129.56 lakhs
Afforestation.
Total Rs 20306.22 lakhs

CALCULATION OF BENEFIT / COST RATIO.

Total Cost (As per Table B Calculation) = Rs. 2742.56lakhs

Total Benefits (As per Table Calculation) = Rs 20306.22lakhs

Total Benefit / Cost Ration. = Rs. 7.40
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